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AR |mAEEAE Mim | T yE
No. 0 0. 00 8. 55|
No. 1 20. 00| 7. 60| 8. 08| 161. 50|
No. 2 20. 00| 7.75] 7. 68| 153. 50|
No. 3 20. 00| 8. 00| 7. 88| 157. 50|
No. 4 20. 00| 9. 10) 8. 55| 171. 00|
No. 5 20. 00| 9. 25| 9. 18| 183. 50|
No. 6 20. 00| 8. 30| 8. 78| 175. 50|
No. 7 20. 00| 8. 30| 8. 30| 166. 00|
No. 8 20. 00| 7. 85 8. 08| 161. 50|
No. 9 20. 00| 7. 95 7. 90| 158. 00|
|kt 180. 00| 1488. 00|

HHERRYIET 8.55+7.95+78.0 = 94.5 m
SHERETERLIE 0.023%94.5%0.05%1.1=0. 119 t
B - AR 1488.0%0.05 = 74.4 m3

BREIEAI - P LiE#HE 1488.0%0.10 = 148.8 m3

SMEIER (R4, W=15cm, t=1. 5mm) 360.0 m

chiR (B8, W=15cm, t=1.5mm) 90.0 m
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